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1. (A) The Profit & Loss Account of Vikas Ltd. for the year Ending 31-3-2018 is set out

MP-111

below. 14
bl‘- Trade and Profit & Loss A/c Cr.
Particulars 4 Particulars 3
To Opening stock 3,60,000 By Sales (75,000 units) 66,00,000
(finished stock 6,000 unit) By Closing Stock 6,60,000
To Direct Material 24.00,000 | (finished stock 11,000 units)
To Direct Wages 12,00,000
To Factory Expenses 8,00,000
To Gross Profit 25,00,000
72,60,000 72,60,000
To Office Expenses 4,00,000 |By Gross Proﬁt 25,00,000
To Selling Expenses 4,50,000
To Net Profit 16,50,000 .
25,00,000 25,00,000

The. cornpany will produce and sell 1,20,000 units during 2018-19. The estimates

for changes in various items are as follows:

(1) Price of material will go up by 20%.

(2) In addition to the proportionate increase in the number of workers. 30 new

workers will have to be engaged and each of them will be paid ¥ 15,000 p.a.

as wages.

(3) Factory expenses will rise in proportion to the combine cost of material and

wages.
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(4) The office expenses per unit will be reduced by 20%.
(5) Selling expenses per unit will go up by ¥ 2 per unit.
(6) The same percentage of profit of last year on selling price is to be
maintained.
Prepare a cost statement for the year 2017-18 and Estimated cost sheet for
the year 2018-19 on the basis of the above information.
OR
(1)  What is tender ? How is Tender price determined ?
(i) Explain the valuation of work-in -progress in cost sheet.
Choose the correct option from the given option : (any four)
(1) Rent of a special plant/ Machinery will be included in
(A) Direct material (B) Direct labour
(C) Direct Or chargeable expenses (D). "Factory cost _
(2) Suppose the total cost of a product is'T 10,000 and if 20 % profit is to be

calculated on the-selling price , then what will be the profit on the cost

price ?
(A) 2,000 (B) 1,500
(C) 2,500 (D) 3,000
(3) .. Legal expenses are shown in cost sheet as
: (A) "Direet expenses (B) Distribution expenses
(C) Office expenses (D) Factory expenses

(4) Cost of sales is ¥ 3,60,000. Amount of profit is ¥ 40,000. State the

percentage of profit on Sales.

(A) 12% B) 11%
C) 10% (D) 9%

(5) From the following ,which item is not shown in cost sheet ?
(A) Salary (B) Indirect material
(C) Income tax paid (D) Indirect wages

(6) Rent of a special plant is added to which expenses while preparing
statement of cost ? '
(A) Factory Expenses (B) Direct material
(C) Direct expenses (D) Office expenses

10




(A) The following is Trading and Profit & Loss Account of Morli Ltd. for the year

ended on 31-3-2018 :
Dr. Cr.
Particular ¢ Particular z
To Opening stock of raw material 58,000 [By Sales (7.600 units) = | 18.24,000
To Purchase of raw materials 3,74,000 [Bv Closing stock of
work-in- process
To Direct wages : 5,96,000 |Materials 8,000
To Factory overheads 3,81,500 |Direct wages 11,000
To Gross profit 7,39,300 |Factory Exp. 6.600 95,600
By Closing stogk of raw 64,000
materials
By Closing stock of 2,35,200
finished goods (1,400
units)
21,48,800 21,48,800
To Administrative.overheads 2,45,000
To Selling overheads 2,00,000 [By Gross profit B/d 7.39,300
To Distribution overheads 1,28.000 [By Rent received 6,000
To Preliminary Exp. written off 10,000 |By Dividend income 5,000
To Debenture discount written off 3,000
To Penalty paid 4,300
To Net profit 1,60,000
7,50,300 7,50,360

The cost Accounts reveal :

(1) The Materials and wages are taken at their cost price.
(2) Factory overheads are taken at 60% of direct wages.
3)

(4) Selling overheads at ¥ 10 per unit sold. |

(5) Distribution overheads are taken at 10% of sales.
Prepare : (1) Cost sheet for the year 2017-18

Administfative overheads are charped at ¥ 12 per unit of production.
i 2 P P

(2) Reconciliation statement reconciling the profit of cost account &

Financial accounts.

OR
11

P.T.O.
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(ii)

State the reasons for disagreements in the profit as shown by Cost Accounts
and Financial Accounts.

Suppose Factory overheads are absorbed at 50% of direct wages and
Administrative overheads at 20 % of Factory cost.

Actual total expenditure incurred is as foliows :

Direct Materials < 80,000
Direct wages 60,000
Factory overheads < 40,000
Administrative overheads < 32,000

Assuming that 10% of output is still in stock and total sales amounts to
< 2,00,000.

Prepare necessary statements and Reconciliation Statement of Cost
Accounts and Financial Accounts.

(B) Choose the correct option from the given option : (any four)

MP-111

(1)

(2)

3)

“4)

)

(6)

Which item is not considered in Financial Accounts ?

(A) Donation ' (B). Notional salary of the owner
(C) Interest o (D). Material

Which item is not considered in Cost Accounts ?

(A) Indirect expenses (B) Interest

(C) Material (D) Wages

Expense niot recorded in Financial Accounts-

(A) Officessalary (B) Rent of own house

(C) Banklriterest (D) Commission

Goodwill written off is recorded in

(A) Financial Accounts and Cost A/c both

(B) Financial A/c

(C) Cost Accounts

(D) None of these

When loss as per Cost Accounts is ¥ 60,000 and Goodwill written off is
R 4,000, the loss as per the Financial book would be as under :

(A) 56,000 (B) % 64.000

(C) 52,000 (D) None of these

Amount recorded in profit & Loss Account, but not recorded in cost
Accounts .

(A) Factory Ex?Fnses (B) Preliminary Expenses

(C) Office Expenses | (D) None of these

12




3. (A

(B)
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Banas Transport Company owns a fleet of 4 buses which are used to carry
students of Akur school from Paldi Bus-stand to school and back covering a total
.dislance of 20 kms. Each bus makes two round trips a day and carries 50 students
in a single trip. All the buses work 25 days in a month. 14
Following are the expenses from which you are required to calculate cost per
passenger(student) km to Madhav transport company.

(1) Salary of 4 drivers per month ¥ 40,000

(2) Salary of 4 ¢leaners per month ¥ 32,000

(3) Diesel charges per litre T 65

(4) Road taxes per day per passenger < 4

(5) Licence fees per bus per year I 2,400

(6) Garage rent per bus per year < 48,000

(7) Insurance charges(yeatly) on cost of vehicle 5%

(8) Maintenance 50% of depreciation charges .

(9) Each bus costs ¥ 11,00,000 and has scrap valug of T 1.00,000 at the end of
its life of 10 years.

(10) Each bus runs 8 km in one litre diesel:

School contributes 50% of the fieight to be charged from student. If % of the cost
is charged as profit by Madhav Transport company, what will the student pay per
month to the school as trafisport charges ?

OR

(i)  Explain the meaniitg of operating Costing and narrate its Characteristics. 7
(ii) ~Give a pro=forma of a Operating Cost Sheet. 7
Choose the correet’option from the given option : (any three) . 3
(1) Which of the following is not fixed expenses for Operating Costing ?

(A) DPetrol (B) Salary of the Driver

(C) Office Rent (D) Municipal tax
(2) Which of the following is not included in Operating industry ?

(A) Publication (B) Theatre

(C) Railway (D) Hotel
(3) Which of the following is not Variable expenses for Operating Costing ?

(A) Garage Rent (B) Depreciation

(C) Maimenance (D) None of these

(4) Which of the following items is considered a variable cost from the
viewpoint of a transport undertaking ?

(A) Tyres and Tubes (B) Accountant’s salary
(C) Rent, rates and taxes (D) Cleaner’s salary
(5) Which of the following cost unit is adopted by Goods Transport company ?
(A) Perton Km. (B) Perton
(C) Per trip (D) PerKm. .

13 P.T.O.



4. (A) The Following information is available from the books of Vanaraj Construction

MP-111

company for the year ended on 31-3-2018.

Particulars <

Work in progress 31-3-2017
Work certified 3,00.000
Work uncertified 20,000
Machinary (Original cost T 1.00,000) 80,000
Materials 10,000
Reserve profit (31-3-2017) 20,000
Outstanding wages(31-3-2017) 4,000
Prepaid sundry expenses(31-3-2017) 1,000
Expenses incurred during the year 2017-18

Materials supplied from stores 1,40,000
Materials purchase from suppliers 20,000
Materials destroyed by fire (it was notdfisured) 4,000
Allotted overheads for this conttact 10,000
Sundry expenses paid 4,000
Wages paid | 60,000
Total supefvision charges (3/4 time is devoted on this contract) 20.000
Special plantstipplied on 1-10-2017 20,000

Cther related information

(1) Depreciation is written off at 20% by straight line method for both the types

of machines.

(if) Work certified on 31-3-2017 was 30% of the contrct price.
(iti) Cash received is 80% of work certified, during the year, the contractee paid

< 4,00,000

(iv)  On 1-10-2017 a piece of common machinery, originally costing ¥ 20,000

was sold realizing ¥ 10,000.

(V) 50% of the special plant was destroyed by fire on 31-12-2017 ¢

of ¥2.500
(vi) Outstanding wages on 31-3-2018 are ¥ 2.000
Required :

(I)  Contract account for the year ended on 31-3-2018

(2)  Work-in -progress account.

(3)  Calculation of profit to be transferred to the profit and loss accouﬁt on
2/3 profit as reduced by percentage cash received.

OR

14

ausing a loss

14



(1) The following information is received for Job No. 420 of Madhav Company

Ltd. 7

(1) Materials ¥ 5,000.

(2) Wages: Department-I 50 Hours at ¥ 8.00 per hour
Department-1I 80 Hours at ¥ 5.00 per hour
(3) Overhead expenses were estimated as follows :

(i) Variable overheads :

Department-I ¥ 10,000 for 5,000 direct labour hours.

-

Department-11 ¥ 15,000 for 3,000 direct labour hours.
(ii) Fixed overheads: Estimated at ¥ 2,000 for 1,000 hours.

Calculate the cost of Job No:420 and determine the selling price at 20%

profit on sales price

(ii) What is meant by “Pro-forma Contract Account” ? Explain when and why it

is prepared ? Explain.

7
"(B) Choose the correct option from the given option : (any three) 3
(1) An automobile service unit uses Costing.
(A) job . (B) batch

(C) contract (D) operating

(2) The Costing is used in printing industry.

(A) Batch (B) Job

(C) Output (D) Contract

(3)  Contract Costing is mostly used in-

(A) Construction { vl (BI)'.‘ Service

C) B .

(C) Batch (D) job
MP-111
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(4)

(5)

Cost plus contract means o

(A) Contract expenses + some percent of profit

(B) Contract price fixed from beginning

(C) Contract cost increase automatic

(D) No change in contract cost

AS per contact Account, uncertified work means

(A) Work not certified (B) Work without permission

(C) Work-in progress (D) Finished Work
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